




7 G1\en the function g(x) = xi+ 2x 6 

11.7 

c Find the vertex of the parabola 

d Give the ax s of symmetry 

G \: e the domain and range of the function. 
Write your ansv.ers ·ri 1.,terval notation. 
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('1ph; 9 Complete the square to write the function in vertexform Then Find the coordinates of the vertex and draw 

t 

a graph of f(x) ::: 3x2 - 18x + 15 
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c be rr>od led by the function h(x) = • 02x2 + 2 4x + 3 
t oft e ba I and x = d stance from home plate Find the maximum he ght 1t reaches 
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